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Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25

| 3rd Month, 2nd Week, 6th Day | Revision Test (2nd Week) |

Q.1. Choose the correct options. 1x13=13) - /hfl‘i’”"{hf'ﬁh:ﬂ‘/)

(i) (4m+5m—2)—(3m+2n)="?

(@| m-2n+2 [(b)[ 6m-2n-2 |(¢)| 6mMm+2n+2 |(d)| 6m+2n-2

(i) The only operations that connect the algebraic terms are:

e oPy T 32 dp B A

(@) +, - (b) X, + (©) +, 7, X (a) X

(iii) In expression 4x + 5, 4 is: e dlax+ 512
(a) [exponent Ve § (b) [variable /3:' (c) [constant % (d) [coefficient /dm
(iv) Each number in the pattern is called: Z‘Lt’lkvg,w/zufé_/
(a) | term f: (b) [equation < lsl~| (¢) | expression A% | (d) | constant Ja:/

(v) In algebra a value that can be changed is called:

i‘LaMénJ“iﬁagu‘}fl/él

(a) | constant - (b) | variable /3:‘ (c) | literal (f"aj d

-’

coefficient #($24

-’

(vi) To simplify the algebraic expression we use: c‘;t)fdlr?’lgj.ﬁg/%d;l

Exponent rule JIKli=? | (b)| BODMAS rule /#§ BODMAS

(a

N=

(c) [DMAS rule 466 DMAS | (d) | chain rule Ul %

1
(x) What is the symbolically form of the sum of the number n and 8 is 30?

?+~b(y4/)f WU l.c"_SOuf 8.3k

@@| n+8=30 |®m)| n+30=8 |[()| n=30+8 [@]| n-8=30

(xi) x+ x+x+xis equal to: eslixtx+x+x

(a) 3x (b) 4x (c) X (d) x4
(xii) 3p + 4q + 8p — 3q is equal to: ‘e 41z3p +4q +8p -3q
(a) 1lp_q (b) 12p+q () I1lp+q (d) 11p+2q

(xiii) The next term in the sequence 1, 1, 2, 3, 5, 8,

(vii)(6a —Sb+c¢) —(2a+2b —8c)="?

(a)| 3a—7b+8c [(b)| 4a+7b+8c |(c)| 4a —7b —9c [(d)| 4a —Tb+9c¢

(viii) What is the symbolically form of the sum of number n and 29 is 15?

S Y G U1 1526 29 s s

@] n+29=15 |)| n+15=29 || n-15=29 [@)| Q=29-15

(ix) Identify the variable in 2x2 + x + 1:

LA +x+ 1

(a) 1 b) 0 © X d x2

1’ 1’ 2’ 3’ 5’ 8’ —‘Lﬂjﬁ‘ﬂ‘ﬁ;}
(a) 10 (b) 12 © 13 () 15

Q.2. Answer the following questions: (4x2=8) - ;glﬁéoﬂlf‘f” 3G
(i) Find the perimeter of rectanlge. - /?)”}UKJ"L/

<t

+

i

3x +4y + 4y

(i) Ifa=5,b=8and c =20 evaluate b> - 4ac.
-SSP D—dacine=20b=8 a=5/]
(iii) Subtract the second expression from the first.
5x—-3y-2z, 7x+y-3 -Q/Q;GU:,&,’K&‘-/”

Q.3. If the perimeter of a triangle 5x + 6y + 8z and the lengths of its two sides

(iv) Solve: (2xy + 3yz + 4zx) — (6xy - 2yz - 5) + (8xy + 2yz - 35)

arex+y+zand x— 2y + 3z respectively. Find the length of third side of

triangle. (1x4=4)

é:lgﬁ.‘.’.?nx —2y+3znlx+y+ ZJI,JJCMD)LJU;ISX + 6y + SZJbleugﬁ
-y s



